Il AT & F &

B | & ZRITE
Ll E?\HEE?‘P%‘B&?E%%’?%&*&
AR (1BB)  1E13:50FHK2~6514: 40T
2 | x [FAOHE (1535
EaER (2B B) 1 2% 14:30F#H 3~6%15:20F#K
3 | K [>xEm A
4| & 7znj7\y7°6ﬁ%i§:¥$$4
BREEBEEBEZESR
5 | £ |AEMAELKRES BEREESAE) > ik
6 | B
7| B
8 | X |23V it (1-2-3%) 13:30—
q9 | K
10| % 7’3:#“&[;77’7'—I~
ERHRE213:00~ (2-4-65F)
11| & |ER=
97 Ly MEBIRY
12| +
13| B
14| B |62 R%F
15| X |ALT-=25V a8 (4-5-64F) 13:30~
16| 7K [BADTEE (2-4-6)
17| A& |@FH%13:00~ (1-3-5%)
18 | & |757%0Q
19| +
20| B
21 | A
[2~cEBEMEOMK RESE
22| X gy 24K~ 131 (2-5%) i%?’rﬁ:l:*ﬁf‘i/%gx
23 | K [BmRHnA %
24 | % fg%?ﬁ Af'Ell-H#ﬁaﬂE BIISEFRE B B
ZFREEWHZRSL13:35~ e
2~483 5 B DR
25| & 97“;\35}#5'}%1) N\
26 | +
27| B
28 | A
29 | X
30| K




